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YBc aimar, LjaraasxanpxaH cym

[adHa MOXWXUNMbIH axun

AXIbIH TOO X3MXKI3HUM XATCAANT

Jat/i] AXIbIH H3p ~ Hank |Too xamxaa
1 |3ambiH Ynruiir caprasx KM 0.984
2  |BetoH 3yypmar 6anTrax M3 0.13

JiV/il AXITbIH H3p ‘Hark |Too xamxa3
1 | ToxupomXryit MmaTepuanbir yxax aunx m3 1596.38
2 |3eespeep ganax Hairyynax m3 1269.57
3 |CyypuitH goop ye 6aitryynax 20cm 1m3 1616.81
4  |ABTO 3amblH xeBee Haiiryynax 20cm 1m3 200.5
5 |AsTo 3amblH xawwnara Tasux /1x0.3x0.15m/ yim 2005
6 |3amblH CyypuHA Har ye ranrap uaac A3BCaX m2 8084.07
7  |UemenTBeToH XxonbLOOp 3aMbiH XypA caapyynary rapaap Xuix M3 0.72
8 |ABsTO 3aMblH Xy4nUNTbIr GETOHOH XaBTaHraap Xuix m2 8084.07
9 |AsTo 3aMblH GETOH XaBTran XaBTaH LyTrax 63nTrax M3 1616.81

10 |BeToH 3yypmar 6anTrax m3 1740.11

on AXnbIH H3P Hank |Too xamxa3
1 |3amblH TAOMAArNAraar 30puynanTbiH MalUUHaap Xunx M 1036
2 |3amblH TAaMAAr cyypbnyynax W 45
3 |BetoH 3yypmar 63nTrax m3 23

S

AXnbIH Hap

Hark

Too xamxa3

il

[aH xoonour wyyayyHa Tasux, ®500mMm

0.042

o/a AXNbIH H3P | Hank |Too xamxa3
1 |fBrad xyHun 3amblH Xalunara TaBux y/m 2965
2  |fiBraH xyHuwil 3aMblH CYypWIr anc-xaipraHbl XonbLoop XX M3 266.85
3 [fsraH XyHWit 3aMblH XYYUNTUIAr OHIET XaBTaHraap Xunx M2 1779
4  |BeToH 3yypmar 63nTrax M3 65.23

o/n AXIbIH Hap Hank | Too xamxaa
1 | XawaaHbl LWOHMMIAH HYX rapaap yxax M3 82.82
2 |XawaaHbl WOHrMIH Cyypb BETOHOOP YuPKMK LyTrax M100 M3 82.82
3 |Temep pamrtaii sBraH xaanra 6yxuin rynaar Tom xaanra yrcpax M2 34.2
4  |BaH3aH xawaa 6apux M2 1117.62
5 |BaH3aH xaHa oxopoop byaax M2 1117.62
6 |BetoH ayypmar 6anTrax Y m3 82.82
Xyyaec



YBc aitmar, LiaraanxaiipxaH cym

adHa moxuxunmeiH axun

AXITbIH TOO X3MXKI3HWUN XArCAANT

o/a AXTbIH H3p Hank  [Too xamxa3
1 | XawaaHbl LWOHIMIAH HYX rapaap yxax M3 6.62
2 | XawaaHbl LWOHrUiAH Cyypb BETOHOOP YMPKINK LyTrax M100 m3 6.62
3 |Temep capaamiuH xaanra xuimx yrcpax, h=1.2m M2 16.8
4  |XaanraHbl TeMep 33BpanT3ac Xamraanax dyaraap Gyaax M2 16.8
5 |Temep capaamkuH XallaaHbl Xanc Xumx yrcpax, h=1.2m M2 264.72
6  |XawaaHbl TOMEp 33BpaNTIIC Xamraanax 6yaraap byaax M2 264.72
7  |BetoH syypmar 63anTrax M3 6.62

oa AXIbIH H3p  Hank [Too xamxaa
1 [XawaaHbl xasr TOrroox w 441
2 |l'yaamxHbl Xasr TOrroox w 46
3 |BailuMHIuiAH Xasr Torroox W 34
4  |AnbGaH raspyyablH Xasr cyypunyynax w 6
5 MagHa ran'Gaﬁa TeMep XenTaih MOAOH TaBuaHTaw Tywnartan 1.5*0.9*0.5 i 6
X3MX33T3N CaHAan cyypunyynax
6 |lagHa Tanbaip xoruiiH caB cyypusyynax w 6
7 | Xereu cambap cyypunyynax w 3
8  |BertoH 3yypmar 6anTrax m3 6.3
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YBC anmar. LiaraaxxaiipxaH cym 3am manbaliH 2apanmyynae.

AXIBIH TOO X3MXKISHUN XKATCAANT

FAPINTYYAMUAH AXUN
o/a AXIbIH H3p Hamnk [Too xamxaa
& = 1 "ap canryyp 400A yrcpax w 1
2 ["an xamraanary 400A yrcpax w 3
3 |3 casbiH 3neKTpoH Toonyyp yrcpax L 1
= 4 3nekTpoH Toonyyp Byxui rapantyynruiH yaupaax cambap |IP65 xamraanantran Lumpxar 1
b [3panTyynruitH cambapbliH 6E€TOH Cyypb LyTrax M3 0.225
6 ['agHa TaBux 2 TONroWTOW TOMEp LLUOHTOW rapanTyynary yrepax h= 9m w 4
7 ["3panTyyNriiH LUOHMMIAH Cyypb /9M/ yrepax w 4
8 XasuitH Hexuena MNMH-2b Temep 6eToH 3aBcapbiH Tynryyp yrcpax w 1
9 X3BuitH Hexuena Temep 6etoH YAH-2b canbapnantbiH Tynryyp yrcpax i 5
= /Tynaactawn/
10 XaBUnH Hexuena Temep 6eToH AKH-2B TercrenuitH aHkep Tynryyp yrcpax =k 1
/Tynaacraw/
— 11 0.4 kB-blH araapblH LWyrambliH 6ypaacTain 3x35+1x54 MM2 cun yTac Tynryypt - 035
Tarax
12 |0.4kB-biH ABBE 3*35+1*16MM.KkB OrTnonTow Kabenuiir Xxoonona CyBnaX TaBux M 60
et 13 |0.4kB-biH ABBB 3*25+1*16MM.KB OrTnonTon kabenuiir wyyayyHa cyHrax M 2000
14 |[aH AaHgaH xoonowH rony d=100mMm yrecpax M 160
15 |XyBaHuap xoornon yrcpax ®100mm M 150
) 16 [KaGenuiir sHAaH XO00Nowa CyBN3X TaBUX M 310
17 |3OncaH gaecrap kabenbg xunx M 1833
18 | TooCroH Xy4nnT aXHUA kabenba Xuinx M 1333
L] 19 |KaBenuith goxuonnbliH Tyy3 Cyypunyynax ™M 1588
20 |35MM2 xypTan orTnonToi kabenuitH CyacaHA TercreBY Luaxax w 8
21 |25MM2 xypTan ortnonToin kabenuinH CyacaHa TercreBy Lwaxax L 24
> 22 |KabenwuiH TercreBYTait Lopro 3x25+1x16 NMKB3-2 w 36
23 |160MM2 XypTan OrTNoNToun rasapAayynrbiH WWHWIAT WyyayyHA yrepax /cambapbit/ M 54
24 50*50*5MM xamx33Ta BynaH TemMep razapayynardbir rap axunraaraap 300X - 8
/cambapbiH/
= 25 |160MM2 xypTan OrTnoNTon rasapAyynrbiH LWMHWIAT WYyAyyHA Yrepax /LLOHMMAH/ M 80
26 50*50*§MM X3MX33Taln BynaH Temep rasapayynarybir rap axunraaraap 300X = 24
/LOHrMIAH/
= 27 |Temep LUOHr araapbiH LWyramblH TPacchlH Aaryy a4nx yynrax TOHH 0.6
28 |lLoHrunH Hyx rapaap yxax m3 8.88
29 |Opryynx bynax m3 5.32
= 30 |[apanTyynruitH cambapbiH HyX yxax M3 0.3
31 [CambapblH Hyx apryymx Bynax m3 0.06
32 |KabenunH wyyayy rapaap yxax M3 444 .64
285 33 |Wyyayyr apryymx 6ynax m3 435.74
34 |[apgHa rapanTyynary LWOH 366X LUMIMKYYNax, k=1.6 w 33
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